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CECaE D [ 248 448 Wi ) [ emfE]
10 A 355k 4y 1,234 kwh | x 1.75  [M/keh | = '2,160 [
11AFER Sy 5,678  kwh x 1.75  H/kwh = 9,937 B
121 353k 4y 9,012 kwh | x 1.75  [9/kwh - 15,771 /™
1 HiERy 3,456 kwh x 1.75  H/kwh = 6,048 M
2 3Ry 7,890 kwh X 1.75  [/kwh = 13,808 A
3 Hisksy 1,234 kwh x 1.75  [/kvh = 2,160 M
4 f35sk4y 5,678 kwh X 1.75  [/kwh = 9,937 M
5 Higsksy 9,012 kwh x 1.75  [/kvh = 15,771 M
&3k W) 75,592 F
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10 A 76k 4 1,234 kwh | x 0.90 [/kvh | = 1,111 /M
11 H &Ry 5,678  kwh X 0.90  M/kwh = 5,110 M
127 35k 9,012 kwh | x 0.90 [/kvh | = 8,111 [
1 HiEsRSy 3,456  kwh X 0.90  M/kwh = 3,110 M
2 3Ry 7,890 kwh X 0.90  F/kwh = 7,101 M
3 Asksksy 1,234 kwh | x 0.90  M/kvh | = 1111 /A
4 f35sk4y 5,678 kwh X 0.90  F/kwh = 5,110 M
5 A#tsk4y 9,012 kwh | x 0.90 M/kvh | = 8,111 A
Atk (B) 38,875 A
) wmetnt 1144678 - 114,000H
XIE FIRERIS 750 =W+ ®) 114,467 1
e ~ 114,000
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